DISCRETE DISTRIBUTIONS

hY PARAMETERS p(y) F(y) E[Y] V[Y] m(t)
Bernoulli(p) {01} pe(0,1) p(1—p)Y p p(1—p) 1—p+pe
Binomial(n, p) {0,1,...,n} neZ ,pe(0,1) (Z)py(l —p)nY np np(l — p) (1—p+peh)”
Poisson(\) {0,1,2,...} AeRT e*;)\y A A exp{A (e — 1)}
Geometric(p) {1,2,...} pe(0,1) (1-=p)¥~'p 1—(1—=p) ; (1p—2p) 1_ ;g —p)
NegBinomial(r,p) | {r,r+1,...} reZt,pe(0,1) (y B 1>pr(1 —p)v T r rd—p) (L)T
-1 » 2 T ef(i=p)
or {0,1,2,..} reZt.pe(0,1) (Tifz 1>pf(1—p)v r“;p) T(lpgp) (%)T

Hypergeom(N,r,n)

or

{max{0,n — N +r},...

...,min{n,r}}




CONTINUOUS DISTRIBUTIONS

Y | PARAMETERS fy) F(y) E[Y] VY] m(t)
. 1 y— 0, (91 + 92) (92 — 91) efat — bt
Uni form(6;,0 01,05) | 6, <6, cR Yire) ¢ —°
néform(61,62) (61,82) | 61 <62 € 0y — 0 0y — 0 2 12 0> —01)
(standard model 6; = 0,6, = 1)
Ezponential(B) R* BeRT %e*y/ﬂ 1— e ¥/p B B2 (1 —1575)
(standard model g = 1)
1 [e3
Gamma(a, B) R+ a, B eRT BT (@) y*le~v/B af aB? (1 —lﬂt)
(standard model 8 = 1) where I'(a) = / y* eV dy
0
1 (y — p)? o*t?
Normal(u,0?) R peER, 0 eRT Tonat exp { 552 w o2 expq ut + 5
(standard model 4 = 0,0 = 1)
Na+p6) _ _ e af
Beta(a, 0,1 ,pERT =11 p-1 —
(@7 R T’ Y a+tp (a+pBpPla+B+1)
2
Weibull (. 8) R* | aBeR* aBye-leBv p— [+1/a) | T{+2/a)-T(1+1/a)
/81/04 52/(1
(standard model 8 = 1)
r 1
Student(v) R veRT (v +1)/2) 75 0 (ifr>1) Y (if v > 2)
L (v/2) Vv {1 +y2 v} v 2
0 0 e 0 ab?
Pareto(f), R+ 0,0 € RT Y 1—(—— i Y
areto(§, ) @< (0 +7)° (6+y) a_1 o> mm gy (ae>2)
For linear transformation X = y + oY
S S ) mx(t) = e"'my(ot)  E[X] = pt+oE[Y]  V[X]=o?V[Y]

mm=ﬁ<
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